R6.11.1 BlE S amEEADR P BT R

JNE] i H FEHE H SREh e fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
k] 49,879 109, 762] 53, 336] 56, 426 78 ggl 23 68 91 111]  462] 351 0 173 173
HI—TH 715 1,468 714 754 4 6 3 3 0 5 7 2 -2 0 2
FL T H 577 1,291 643 648 -2 —4 -1 0 1 -3 4 7 0 3 3
LI =TH 4770 1,047 497 550 —4 -2 2 3 1 2 5 3 -6 0 6
SLlAEH 1,769 3,806] 1,854] 1,952 =2 0 4 6 2 4 16 12 -8 3 11
Sk —TH 490 935 438 497 -1 -8 -2 0 2 0 7 -6 0 6
. = 7410 1,679 800 879 1 —4 —4 0 4 3 3 -3 1 4
SR —TH 567 1,285 612 673 -71  -11 -1 0 1 -6 0 —4 2 6
S AT H 400 876 440 436 -1 5 1 2 1 1 2 3 3 0
ot T H 626 1,310 630 680 -3 =10 0 0 of -10 2 12 0 0 0
BN T B 234 482 242 240 -2 -2 -1 1 2 0 0 0 -1 0 1
ARt TH 660l 1,615 792 823 -1 1 0 0 0 1 7 6 0 4 4
oA\ T H 394 834 383 451 -1 -2 1 2 1 -1 3 4 -2 0 2
IV B 624[ 1,459 709 750 3 6 1 1 0 5 6 1 0 0 0
s naEtl 4,736 10,475 5,046 5,420 -12]  -25 -5 6 11 -7 30 371 -13 10 23
e n—1H 360 788 387 401 1 3 0 1 1 2 5 1 1 0
w7 HL 1,036 2,097] 1,048 1,049 10 9 2 3 1 4 12 3 4 1
HHk o —TH 686| 1,377 664 713 0 -5 -5 0 5 -3 0 3 3 0
Wk A AErl 2,0820  4,262] 2,099] 2,163 11 7 -3 4 7 3 17 14 7 8 1
Mt A — T H 559|| 1,234 597 637 -2 -3 -1 0 1 0 5 5 0 0 0
ek R _TH 359 905 456 449 0 1 0 0 0 -1 1 0 0 0
Mk R =TH 255 550 282 268 4 1 1 0 2 1 1 1 0
ik L G| 569 1,305 665 640 -1 -3 0 0 0 -1 5 -2 1 3
sk aaEt] 1, 742]  3,994] 2,000[ 1,994 -1 -1 0 1 1 0 12 12 -1 2 3
TEIT) 392 842 404 438 -2 -2 -2 0 2 -2 4 2 2 0
HOEEN— T H 211 432 218 214 -2 -2 2 2 0 -3 5 -1 0 1
HOEE T H 447 956 470 486 2 4 0 0 0 3 1 1 2 1
HoEEI =T H 744 1,764 861 903 7 15 1 3 2 15 16 1 -1 1 2
HOEEAN T H 837l 2,073] 1,033 1,040 9 9 1 1 0 4 2 4 5 1
HEROH T H 434/ 1,009 509 500 2 2 2 2 0 1 2 -1 2 3
HOEEIS T H 392 836 401 435 1 -2 -6 0 6 3 3 1 1 0
HoEEOETH 685 1,444 714 730 -1 1 0 1 1 1 0 0 0 0
HOEEHOSE 3,750 8,514 4,206] 4,308 18 27 0 9 9 24 38 14 3 11 8
PEEE| 1,523 2,709 1,298] 1,411 6 4 -3 2 5 1 13 12 6 6 0
FHIAR 312 650 333 317 1 6 0 0 0 9 10 1 -3 0 3
EE g —T 563 1,122 524 598 0 -6 -1 0 1 -3 3 6 -2 2 4
EE g — T 252 494 244 250 2 1 -1 0 1 2 2 0 0 0 0
R =T H 548 1,173 589 584 2 4 -1 0 1 5 8 3 0 0 0
TEE Py T 667 1,315 627 688 -3 -5 -1 0 1 -3 3 6 -1 0 1
EEP g R T H 246 550 270 280 2 2 -1 0 1 2 2 0 1 1 0
EER A2 2 276l 4,654 2,254| 2,400 3 —4 -5 0 5 3 18 15 -2 3 5
EEIARRT— T H 706 1,388 656 732 -11]  -11 0 0 of -11 7 18 0 0 0
EEIARRT T H 686 1,292 591 701 -3 -3 0 0 0 -2 3 5 -1 1 2
EESOARRTAE] 1,392 2,680 1,247 1,433 -14] -14 0 0 of ~-13 10 23 -1 1 2
RPN 275 761 418 343 -2 -3 -1 0 1 -2 2 0 0 0
WHR—TH 748 1,644 802 842 3 0 0 0 0 -1 7 1 1 0
HOOR T H| 1L,731 3,875 1,871] 2,004 7 7 -1 0 1 11 19 8 -3 6 9
WHR=TH 891 2,210] 1,080 1,130 3 0 2 2 -2 7 9 7 7 0
HHRIT H 506 1,191 558 633 0 0 0 0 -1 0 1 1 1 0
HPREEH 3,876] 8,920 4,311 4,609 13 12 -1 2 3 7 32 25 6 15 9
HiR—TH 723l 1,568 766 802 -7 1 1 0 -2 5 -6 4 10
IHR_"TH 982 2,280| 1,144| 1,136 9 0 0 0 5 11 4 7 3
PR =TH 517 1,062 540 522 16 16 0 0 0 16 26 10 0 0 0
JdRAE 2,2220 4,910 2,450] 2, 460 24 18 1 1 0 19 42 23 -2 11 13

T IROBTHT 332 804 380 424 0 4 0 0 0 -1 0 5 5

WEl 1,638 5,077 2,262| 2,815 0 -2 —4 0 4 2 11 4

M E T H 802 1,820 885 935 4 12 1 2 1 11 18 2
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JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 787l 1,806 897 909 -2 —4 -1 1 2 -3 8 11 0 1 1
MoE =1 H 636 1,467 725 742 1 1 0 1 1 1 2 1 0 4 4
A EN T H 934/ 2,175| 1,037| 1,138 -2 -8 0 0 0 7 51 -10 0 10
RCENNE 680| 1,501 739 762 6 4 2 2 0 5 2 -1 0 1
MAEST H 427 972 452 520 3 2 0 0 0 3 0 -1 1 2
Al EaE 4,266 9,741] 4,735| 5,006 10 7 2 6 4 17 43 26 -12 8 20
VEPIe S 591 1,150 564 586 -2 -7 0 2 2 -3 0 3 —4 1 5
e —TH 328 691 329 362 1 -1 -1 0 1 1 2 1 -1 4 5
e — T H 598( 1,307 626 681 -1 3 2 2 0 1 4 0 2 2
A gl 926| 1,998 955| 1,043 0 1 2 1 2 5 -1 6 7
E— 1 H 338 748 381 367 19 46 2 2 0 18 21 3 26 32 6
= =T H 700[ 1,421 667 754 5 9 -1 2 3 2 3 1 8 8 0
=T H 433l 1,080 540 540 -3 -7 0 0 0 -1 1 2 -6 0 6
Eaatl 1,471 3,249 1,588 1,661 21 48 1 4 3 19 25 6 28 40 12
e —TH 395 929 435 494 -1 2 0 0 0 -1 2 3 3 4 1
WHE T H 457 1,083 538 545 3 6 0 0 0 4 6 2 2 2 0
HHE T H 842| 2,048| 1,034 1,014 2 1 -1 3 4 3 7 4 -1 2 3
W& T B 437 999 482 517 -2 -7 -3 0 3 0 1 1 -4 1 5
B E ] H 849 1,811 897 914 -3 5 -2 1 3 2 8 6 5 6 1
HHIENT H 247 499 249 250 -3 -2 0 0 0 0 2 2 -2 0 2
HE SR 3,227 7,369| 3,635 3,734 —4 5 -6 4 10 8 26 18 3 15 12
<HWE—TH 600[ 1,317 643 674 1 -2 -1 0 1 -1 2 3 0 1 1
<HEIL—TH 715 1,467 721 746 4 3 -1 0 1 4 8 4 0 0 0
SHBEIL=TH 509 1,092 534 558 0 -2 -2 0 2 1 3 2 -1 0 1
<HEWLPTH 582 1,168 566 602 1 3 1 1 0 2 4 2 0 0 0
<O T H 272 587 312 275 -1 -3 -1 0 1 -2 1 3 0 0 0
<MEEEH 2,678 5,631 2,776 2,855 5 -1 —4 1 5 4 18 14 -1 1 2
WIE AR —TH 802 1,685 833 852 2 1 -1 0 1 4 5 -2 6 8
WIEAR T H 483 1,132 582 550 0 -3 -1 2 3 -1 4 -1 3 4
PIEARTSE 1,285  2,817| 1,415 1,402 2 -2 -2 2 4 3 12 9 -3 9 12
s 413 790 377 413 1 4 2 2 0 2 5 3 0 0 0
ek —TH[ 1,171 1,843 854 989 —4 -11 2 2 0 —6 15 21 -7 1 8
e T H 599 1,068 517 551 2 -3 2 2 0 3 6 3 -8 4 12
kR =T H 765 1,820 854 966 0 5 2 3 1 3 6 3 0 1 1
sk BRI H 431 867 420 447 2 3 0 1 1 -1 10 11 4 4 0
kA aa sl 2,966 5,598 2,645] 2,953 0 -6 6 8 2 -1 37 38 -11 10 21
FRIREET 22 51 25 26 0 0 0 0 0 0 0 0 0 0 0
B 741 1,723 823 900 -1 5 -1 3 4 6 10 4 0 0 0
VEEE 339 722 332 390 -1 -2 0 0 0 -2 0 2 0 0 0
e — T H 458 1,102 543 559 3 2 -1 0 1 3 3 0 0 0 0
e T H 416 915 453 462 -2 -2 0 0 0 -2 1 3 0 0 0
oo B R 874/ 2,017 996 1,021 1 0 -1 0 1 1 4 3 0 0 0
P — T H 701l 1,431 713 718 1 2 2 2 0 0 8 8 0 0 0
P T H 541| 1,268 597 671 3 6 -2 0 2 8 11 3 0 0 0
WeEm A Er 1,242 2,699 1,310] 1,389 4 8 0 2 2 8 19 11 0 0 0
P e 313 685 349 336 -1 1 -1 1 2 0 1 1 2 2 0
BEHIR 208 464 249 215 0 -1 -1 0 1 0 4 4 0 0 0




